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Exponential and Logarithmic Graphs Multiple Choice

1. Which statement about the graph of ¢(x) = logsx is false? =
@The asymptote has equation y = 0. 3= : ?’ /

2) The graph has no y-intercept. P

3) The domain is the set of positive reals. (!’ d:/

4) The range is the set of all real numbers.

1) It is asymptotic to the x-axis.
2) The domain is the set of all real numbers.
3) Itlies in Quadrants I and II. \

2. Which statement about the graph of the equation y = 2" is not true? J

A)D 1t passes through the point (2, 1). (01

3. Which statement is true about the graph of f{x) = [-é—] ?

1) The graph is always increasing.
2)>The graph is always decreasing. . \

. 3) The graph passes through (1, 0).
4) The graph has an asymptote, x = 0.

(PR is always increasing v
2) The graph passes through (0,1) X<
3) The domain is all real numbers < T
4) The equation of the asymptote is y=0 X< L
=0
5. Given the equation f(x)=7", which of the following statements is true? j

4. Which statement is true regarding the equation f(x)=log,; x? I /

1) The graph passes through (7,1)
2) The domain is [0,0) o
é}:}l‘ he graph passes through (0,1)
4) The range is all real numbers l

6. Which statement is false f@ding the equation f(x)=Inx?
1) It passes through (1,0)

At is always decreasing A /

3) The equation of the asymptote is x=0
4) Its range is (—o0,0)
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8. If a function is defined by the equation f'(x)=log, x, which graph represents the inverse of this /
/
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9. Which sketch shows the inVe?’se of y = o*, where a >1?

1) 2) y @ 4) y
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10. What is the inverse of the function y = log;x? ,g){;bny’n-‘-’ 1 (

Dy=2  2y=lg3 By=34z=7% )U? base o CAC
oy LOJ /D

11. If Ax) = @" where > 1, then the in\\ferse of the function is
) £ =loga ) F7Hx) = log, x 4”\2 é/) a ;@

D) /7@ - abyx 9 7@ = rloga { -0 \@/W it
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12. The asymptote of the graph of f{x) = Slog(x @) is
1) y=6 3) x=4

@x=—4 4) y=5

13. The asymptote of the graph of j(x) = 26"4@is
1) x=4 @ y=-1
2) x=—4 4) y=2

14. The asymptote of the graph of e(x) =log, (x@ +1 is
1) y=1 3) p=5
2) x=1 @ =5

15. The asymptote of the graph of m(x) = —3(2)*" @ is

1) x=-1 @y=—4

16. For the equation f(x)=2""+1,as x - —©

Jhe Jable o +he

1) £(x) - o 3) f(x) > @?—:_ it

QPf(x) 1 4) f(x)—3 |

17. For the equation f(x)=1log,(x—4)+3,as x> 4
A (x) > —o 3) f(®) >0
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2) f(x)—3 4) f(x)—>4

18. For the equation f(x)=-log,(x+1)—2,as x >
@f(x)—)—oo 3) f(x) >
2) f(x)>-1 4) f(x)—>-2

19. Given fx)=3""'+2, as x = -
1) fx) —-1 AR =2
2) fx)—>0 4) flx) = —c0

20. For the equation f(x)=3In(x—-4)+1, f(x) > —oas
—>4 3) x>
2) x—>1 4) x > —©




